
 
 
 
 
 
 
 

The   Venn   diagram   contains   a   total   of   40   members.  
Find   the   probabilities:  

a) P(B)  
b) P(A)  
c) P(not   A)  
d) P(B   but   not   A)  
e) P(neither   B   nor   A)   

 
 
 
 
 
 
 
 

 
  



 

 
Find  

1) n(A)  
 
 

2) n(B)  3) n(B’)  4) n(A⋃B)  

5) n(A⋂B)  
 
 

6) n(A’⋂B)  7) n(A⋂B’)  8) n(A’⋂B’)  

Find  

1) p(A⋂B)  
 
 
 
 
 

2) p(A’)  3) P(A⋂B’)  

 



 
a) Complete   the   two-way   table.  
b) One   of   the   children   is   picked   at   random.   Write   down   the   probability   that   this   child   walked   to  

school   that   day.  
 
 

c) One   of   the   girls   is   picked   at   random.   Work   out   the   probability   that   this   girl   did   not   walk   to   school  
that   day.  

 
 
 
 

4.   The   diagram   shows   some   3-sided,   4-sided   and  
5-sided   shapes.  
 
The   shapes   are   black   or   white.  

 

 
Ed   takes   a   shape   at   random.   Write   down   the   probability   the   shape   is   white   and   3-sided.  
 
 
 
 



 
 
 
 
 
 
 
A   group   of   80   people   was   surveyed   about   their   approaches   to   keeping   fit.   It   was   found   that   20   jog,   22  
swim   and   18   go   to   the   gym.   Further   questioning   found   that   10   people   both   jog   and   swim,   11   people   both  
jog   and   go   to   the   gym,   and   6   people   both   swim   and   go   to   the   gym.   Finally,   43   people   do   none   of   these  
activities.   Draw   a   VENN   diagram   summarising   this   information,   and   then   find   how   many   of   the   people  
do   all   three   activities.  
 
 
  


